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Dbobodbb0ze OO0

f(xz) = H(min(1, j dist(z, K)), z)
gogd

diSt(.7K) j>< 1Ne

R 0,1]

T

0,1 x F—T ¢\ {0}

e

F

ddoodoooododdn fDDDDDDDDDDD
fIK=H|({0} x K) = f
O00000 fO fO000000OO0OOO
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(00 7000)0

(1)= (2):00020 X=F=C, g:C3z2—weC\{0}000000000
(2) = (3):0 COODDOODOOD 000000000000000 4 € .2(1)000
H@O,t)=(1—0)y(t),te 0000 HO A0 0eCO0000D000D00000000
60010U=C,feC(C;C\{0})D000DO00DO (3)0000

(3) = (1) :0 H(A,2) =exp((1 —0)L(2)), 0 €[0,1], re KODOOO H:[0,1] x K —CO
fO0wy=1000000000000

00000 Robert B. Burckel, An Introduction to Classical Complex Analysis Vol. 1,
Pure and Applied Mathematics 82, Academic Press.
O0000[@0o|joo0000oooooo
HOODODODODOOOOOoOooooo
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